Mp HT

fu;
Of

~

|
ofn
FQ
g
P
|-|:
4n
ro
E
ﬁ
Fo
-J
A1l
H1J
-
[E=Y
(Vo]
2
|.|-|
I-D
DHJ
™
oy
Ot
[kl
)
>
Ral
=0
-

H
o
ot
o

S0 XMet7t5E 2|1 M3l SOt s E57t 5 4289 2 AW AL

N
A8 =

Mk

2
H
oX

S 7t 9= 0| Z 2| RtBFAL K| ' oF 29 =FH|OF |G| 210 & =25t A5 LT
L AFS B0 28 20 S 7HX 1 FAS| g=E & AJAS LI
off | Al F L7 7“\}': = Lot

=
rin . ofu
Bt N
oxrx

kL

i

H

19 SXIXHHEO S EH|Ot M stu=F5 W
= O E&L|CH 2l A 71I$6HA1 ZOOM(B)E &
IS E| D Qony 2 A TIdlsta Q&L|C

M0 L= MR
fo & ofu
Pl
>
il

oure

-
mo 2 2 Ho
Rl

ol3
-
s

O|Lt AL S2 7150t X|H 108 10]= 2220
4=t oA AAE SHA I'L 1€ 7480 K| 102 302 0ll= 2 0EHO]| 7HA
PH AALSHD @2 2o At ekat O 2{7HK|

EH 24>
ok e
oy M2
oml ofr of

fm
2
R
Jb
=0
FE

20t ol Hi =
Elﬂ S AALE SIS
|Ct ALHO|AM 20| =
152(F¢)0ll =
| =1} B8}

J7-f01|'ﬂHE ERX I HF 2350 Tl Fl H
AN Xl‘r_"l 2 18Y(FY)0l= S 20 20 OFe| ofjH
ZHof| CH B SO 01|HH§ E2[d M2 WSt et AlZEE
o1 ¢ OF2| o[BS 0F9|01|*1 OHH S 20|21 B LT,
| Al OF2|0fl B S ca A=ls M< AL L £t 3
FQl st o] EofA iE%'EE SOrstd S LS
o Lt

4> o
0o g
o
i
|r|

[m]

to
N
b
o[>
=

0

2
HrE
[y
=
i

o ©

k=)

ne o
mjo kO

of 2
—Q

|.|'

(@]
oo
>
e

o 1 0K Y 2 © iy
If
N
2
|.|-|
HH

H o
oF

= EOI AHSAE il o 0{ohs SO0HL sl o] RL0] 1 SO0t st oA At

2,000 2{0f 7RIS PMH'-IEF 2018 =4 HL|ALS KO 1L K| O| B2 2 & AtSKt
e *”OI Y= ASKE AL & U =l JASLCHL XS AT SES S
Fol0f HLEZL|CH XS AFEE &= U &[of otd S Hol| M 7F A &otrta
H|otA A5 LICH

Y71 Bl Ah= AlH5l A B A} CH AR O OF7| St RUX| 2 B2 LEZ Q15| H| X} At HH’E'\-T'-
== H O AL EHSMO| 2 S5 X2 7F Of FLt1D St A F 7| H| A bl*:LOI olgi=
Z L 510 A2 S0 AE LI 0| =0l M H|AHS ®OFA 7h= & #O| /ULt = 3H—f1 2Rt
O 7tChE20 AlZFO] EOfLE 22X & 4= Qe J&0|0| M A= A% BHCF ZUC 5 EHA
X|L{OF 2 2 25 L|CE XY 71|9'°E" L = 103 7HK| A% Zelotn KM 2l i S0 EEES
A=l5tn QL3 L HO[H M =ZH|OF AL 0| 6 AKX H O S LICE X[ S7HX| F=He| 23 =
n '='§§ M7t At e = UAJAE A 2Lt °4XH DE2LE19¢ 0Lt O 2{7HA]|

H 2 0|2 M|7t A& S EHIOMM ALF S A% o = ASK| 7| = Sof| ASLICH
AMES 7|CHstD o|X|StH Al 2l EI'.:HIUW At E S ZE SHAIS L C

moojn >t >
2 > B
Lo rE

(oYl g

i
fr =

0

;

44 02 1R
or oot 19
10 Mjn ok
ro Hu k
H =4

Of iy



E
ol
o)
Ho
o)
n
MHO
H

i =2 +0| Z2FH| 0t

LICH A 7t & 251
2}
o

S= 2 7 810 EA 0

U BHAH2Z HF ROl

7C:)|
(o]
=
- & Of

ot A LILE

L|Ct.

= A2
£0) 2
= 1f 012 0| L4 2 OFS

9| At

| B A K] 500l
o
=
a4 Xlgg
£ REfcy

2
ofgigs 2 ASL L B2 S0t
=0A=
SotZ& 7|

of| Al 7F
=& H|0F E 2oL 2 O] 0f A4 &=

S| AZL}197F 2
=

ORI et
ofol

0f2{2 50t

=
=
=2

—
Y

o

108 =

T 7| =5}
2 H| 5k A

7t 2= d=HE 7PE R0

3

-
o
[

2 YL AESHAM

240

=
[
o
[

M=o 2 gl 7| 2ol Al G ARSI S LIL.

Ch=

7| =X =

ojnu

D 2LE 190 X[X[X] G511 41 At

1.

DZ2L 192 032 A[7]0f N3] ot St M7t U5 ==

2.

ol

ojnu
jnu

= 75k, B oy

ol
&
B4

AlZ0of T

5

jol
joI
KT

8

S

MHr



14)

2
=
)

410

E
o1
S
Ho
S
n
O
M

2| 0k 2|0l HYf (2020 102 18Y

O] G|




ZooOM £=¢







